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Run 4632 quartetwise, NegHselAcclVNSamples: Beam ON, Laser OFF
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Run 4632 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON
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Run 4632 quartetwise, Sums0: Beam ON, Laser ON

guamshwiza baami las! summi

Entries 0
Mean 0
Std Dev 0

700

600

500

400

300

200

100

Run 4632 quartetwise, Sums0: Beam OFF

quartebwise beaml surmmd
— Entries 18635
— Mean 1.695
- Std Dev  0.1934
: L 1 | 1 L 1 | L 1 1 | 1 1 1 | L 1 1 | L1 1 I | 1
1 1.2 1.4 1.6 1.8 2 2.2 2.4

" PosHelAccO/PosHelNSamplesD + MNegHelAccO/MegHelNSamples(

Run 4632 quartetwise, Sums(: Beam ON, Laser OFF

quannstwisa baami lasl sumimil
Entries 0
Mean 0
Std Dev 0




